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KinbkicTh KpeauriB Kinbkicth
€EKTC kpeaurtiB EKTC
6 6 6 6 3 6 3
1 | K |lukepunens Onbra Bacunisua 94 | 95 | 96 | 95 95 | 94 | 97 95,00
2 | K |be3bopoabko Biktopis Muxaimisaa | 92 | 91 | 91 | 92 93 | 93 | 90 91,65
3 | K [BintoniB Onexcanap AHapiioBAY 92 88 80 | 94 83 85 80 87,45
4 | K |Ayruak Irop CrenanoBu4 92 | 78 | 94 | 17 72 | 73 | 91 83,65
5 | K |boiiko Bonoaumup OnexkcanapoBuy 73 | 8 | 92 | 74 83 | 8 | 90 82,25
6 | K [’)Kunko KoctssatrH JIMUTpOBHY 76 86 90 | 87 52 51 90 80,00
7 | K [Pomyk Jlennc BacunboBuu 77 | 88 | 93 | 73 52 | 57 | 90 79,00
8 | K |TumkiB Muxkoia MukosaaiioBud 77 70 74 | 75 74 73 80 74,20




9 | [ |Kan Slna PycnaniBna 84 | 74 77 | 72 54 53 85 73,65
10| [ |Tkau KOnis PycnaniBua 80 68 80 | 64 54 53 90 70,90
11| [ |Conomka Codist OneriBHa 71 80 | 51 | 80 75 76 51 70,30
12| K |Tynuuax Jligis AuoHiziBHa 66 70 70 | 69 53 58 75 67,20
13| K [YopHomizekwii [Tetpo Muxkonaiiopuu | 51 | 68 | 64 | 72 53 | 54 | 80 63,05
14| 1 |ITaBmrok Onexcauap IlaBimoBud 52 68 70 | 51 52 54 90 60,70
15| I |Cymapyk JIro6omup BacuiboBud 52 | 78 | 67 | 52 54 | 53 | 55 60,55
16 | K |danbkiB FOpiit MuxaitnoBuu 52 69 65 | 51 54 53 80 59,40
17| K |Boituyk Irop IBanoBud 53 | 70 | 68 | 53 52 | 52 | 55 59,35
18| K [T'anmuyk JIroOomup BitaniiioBuu 51 | 70 | 65 | 51 51 | 52 | 55 57,90
19| K |Tpurybuak Banentun IropoBud 51 | 68 | 65 | 51 52 | 54 | 55 57,75
20| K [Kpuosnic Irop Bonoaumuposuy 52 | 70 | 55 | 52 52 | 53 | 60 56,70
21| J1 |llIxpomuna Bamentun Onekcanaposuy 26 | 25 9 3 29 | 28 | 26 18,15
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